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t—Gibberettimsare symthesizedfromr sopenteny! S5 RIDOSOMEs are The sites where mRNA 15 transiated
disphosphate, which is synthesized in the into proteins, Which statement is not correct?
A. Choloroplast B. Mitcchondria (a) Transfer RNA molecules do not serve as
& Nucleus D. Peroxisomes “adapters” between a codon in the mRNA and a
T app——. —_— e 3 et specific amino acid.
Y T | zwesr Fedwur Rewd &Eer ¥ ? {b) There are one or more tRNAs for each amino acid.
A FeRroreErYE B. sr=diasitEaT {c) The genes for rRNA in eukaryotes are present as
¢ o - R — tandem repeats.
{d) Ribosomal RNA and proteins self-assemble to
2. Which statement is incorrect about DNA barcoding? form the ribosome.
' o ' JgEATFA A Fse & ofa mRNA trdlew &
A Uses a short DNA sequence for species FUART B B frea & & S o gt wd
identification a8t 2 0 .4
B. Barcodes have proved useful in biosecurity A. ziTrsz RNAeRaesss mRNA & Bera wisme
C. Morphologically indistinguishable taxa can be 3T oy s ufas & dg Ulwr @
diagnosed without the need for live material w1t g wwar B
D. COx1 is a good material for barcoding of land B. uedss 3yeften ofdrs & uwes @ siféres tRNA
plants. g &
arRfEar B aR FH e A wers JE A T C. uBNurexn 3 rRNA & &3 Sie 2ess
A =fefier ysmrer & R Uss Srer s o ddies # o 7
BT g=droT glar D. wisareh®He RNA@en midla I vaha arae
B. wReAgw IENAeg(¥E 3 suel e gan AFAAH "o B |
2
C. FRwrenfsrse! sretor @l e Sier arer 6. Thylakoids removed from chloroplasts were kept in
Taar @ umae o o oiifaa waell @ tHuminated culture having CO, and water. It did not
sNTeTTAT HET | produce sugar because of
D. COx1lomEfer uv a2y Girel aret Ul a8t si3epiisar (a) absence of enzymes.
& ford areesr Svefeer {b) non-formation of assimilatory power.
(c} absence of light trapping.
3. In wh-ich of‘the foliowing plant embryosac does not (d) nonliking of photosystem ! and photosystem II.
contain antipodal? FARIEIRET A 37797 6y o1 AISiaa IS &)
A. Polygonum B. Oencthera Testista eseaz foredl Co. wenm wrel e, vwAT
C. Allium D. Adoxa orIT | S oY w1 Zeutae Tdl gan aeiifs
reariaiRaa & & v gid & ufeeades & A, TeSUERT BT M
vdidisen @@t uwr ona & 7 B. udlifaced uraz w1 FIE waen
A. grefraniars B. afr=raAtET C. wester XMor BT srena
C. uferas D. uster D. Wiy Rrsear | dar W R (1@ satafser
4. In Agaricus {mushroom) the two nuclei of the
dikaryon cell fuse in the basidium and the process is
known as
A Polygamy B. Pseudogamy
C. Karyogamy D. Somatogamy
CIaRy (HormaA) # siadi¥urat B e Paw
ARAETHE # ngd HA He ond B s ulteen
T HES 2
A. TTeSTa B. =1Ersvelt
C. Brersran D, Y SN
A5 2018/0036 Series-A Page .1
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7. Which of the following is incorrect about

cyanobacteria?

(a) Heterocysts are characteristic of all the genera
of cyanobacteria.

(b} The dominant pigment is phycocyanin and
cholorphyll b.

(c} The products of photosynthesis are glycogen and
cyanophycin

(d) Flagellated motile cells never cccur in the domain
of blue-green algae.

FTIEIYARTT B ATy F el W pers JEI ST

27

A REIDTeR wme AT & Feft SEver o
S oa 2

B. sreficie Rodic wramafas gen @wiitea
bE

C. uepTer ZHoPWUT @ UTgere oFTZHIoIe il
FATEraTEEia B

D. e &g Srarar & 2@e § waeides e
FHIfdreEt ey wEt 2

An aily layer, synthesized by the plastids of the anther
tapetum, mostly during the tetrad stage is called

(a) Sporopolienin

(b) Orbicules

(¢} Pollenkitt

{d) Tryphine

U Nefler uwa, o vaw eften & wniess &
2s merel @ QrE Edl B, 3 @ERd 2

A, FATTEers
B. swedtayew
C. utarafdme

D. feRea

Which statement is not true about nitrogen cycle?

{a} Nitrifying bacteria in the soil or in water convert
NH," to NO, and NO/’

(b) The reduction of NO, to NH " is catalyzed by two
enzymes, nitrate reductase and nitrite reductase.

{c) The enzyme responsible for biological nitrogen
fixation is nitrogenase.

(d) The uptake of soil nitrate by root cells occurs via
high and low affinity transpaort systems located in
the cell wail.

srEareEl @%@ @iy F v AT mAs wWal 8]

&7

A, STScnETEeT St o say = ourslt A urer
G 2 ONH = NO. Far NO, & aga 2d B

API2016/0C

10.

11.

B. NO, & NH, @1 Rsgers al Ueoigad, Ffrrgz
rea'a%a a’eﬂ Arserze PsaesT &I ardl &

C. s orzgioa Thaddd & o UstisH
FTEgroTae foreHerT &ral &

D. arer & Pam sirgde o1 wgl @ HISTEaT
BT 37Uee anerest Hifea # Rera 3= &2
foreer URReNE) gidid Ravest w1 @d 2

Which of the foilowing is incorrect about lichens?

(a)Majority of lichens are made up of cyancbacteria

. and ascomycetes.
{(b) Some lichens can be used as poHution indicators
{c} Some species are uéed to prepare gy
{d) They reproduce only by sexual means
ATgdeT B AT F @la AT e TEl F7ET B P
A SETETdT ST e g dadiivar  derr
TERTHTEATES @ ws Bd &
el uguul @& 2R$T AF T
® ey waver EEar

B. egw on

C. e Tdrelisr @7
STET B

D Baa ABrp sawr I A Rugygzm &g 3

[E31=] EEIC

Which of the fcliowing is not true of fern prothallus?

(a) Prothallus is attached to the soil by delicate
rhizoids.

{b) Fern prothallus is diploid.

(c) Mature prothallus is green and heart-shaped.

(d) Both antheridia and archegonia develop on the

i

same orothallus.
(a) Grareer wefte &1 adisse  Trgsarass BT

SEIEA I

WSET W Fatsg

(b) wel Werme Zwarms 2 ¥
(c) ufiuma TAFH &Y TUT BEATHT BT

(d) weefiBfZar  aenr apfhmferar aral wes &
PaEE T Foehha @ 2

hsl
a5

BLUR
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12.

{a)

[¥9)

fu—l

Which statement is inccrrect about apoplastic
movement of water?

Th> apoplastic movement of water occurs
exclusively through the intercellular spaces.

{bj Movement through the apoplast does not
involve cressing of the celi membrane.

{c} This movement is dependent on the gradient.

(d) Adhesive and cohesive properties of water does
not play a role in movement of water.

oorETi¥es Fade 3G dies & F H Sid

meys e erdl E 9

(a) el @1 UUTEeniied Fg@He Had TTIAET
TGIAST I oarar B

b) pureme ¥ Hude HA Hifhes Fedsr ot
FifFer wdt B B

(¢) e mude FfEve ur FGrelz 2w 2

(d) grsht & ugaRra aen wrafre gur Hade H

®E fdEr ddl TasTd |

~ Which of the foliowing meristems is responsible

for extrasteler secondary growth in dicotyledonous
stemn?

{a} Interfascicular cambium

{b) Intrafascicular cambium

(¢} Intercalary meristem

{d) Pheliogen

TESTST uee @er 3 gerdl I dhie ANES TameY
TEatas gofeg B T Toyemerr &7

(a) Sexmfiaere SFmA

(b) s Hrgee HidFaas

(C) T?v & ATITEFH
(d)%—oﬁrrﬁa

. An Endangered {EN} species is a saecies which has

been categorized by the Internationa! Union for
Conservation of Nature ({UCN} Red List as
(a} likely to become extinct.

(b} likely to become endangered unless the
circumstances threatening its survival and
reproduction improve,

(c} facing a very high risk of extinction in the wild.

{(d) very uncommon, scarce, or infrequently
encountered.

dzzaerad  giama Wi wesdad  3iTw dET

HUCN) gror 33 Bee § g3eos (EN) wdiefs

bl sty TewtaE Tem oren B seriiew

(a) ¥ ¥ W & arer &

AR2016/0035

16.

{b) =re  ulddende=n &al dechl al ¥ 318
FPeatsr A 30 wATHST

(¢} arzes 3 vamfeaea &1 s &

{d) areeta yarepTaver »oped =7 oo weft W
SIS arer

Which of the following is incorrect about

photorespiration?

{(a} Photorespiration protects the plant whenever

RuBP carboxylase picks up oxygen.

{h Photorespiration is an energy-generating process.

{c) Photorespiration is favourad by high oxygen and
low carbon dioxide.

[d} Phetorespiration is the catabolism of ribulose
biphosphate to form glyceraldehydes phosphate
and €O,

m?eﬁféi)'f @ oeare & wmm o wd g8t 22
{a} ora RuBP carboxviase snwfioie &ayr 2 oim
Il st W Tt Y Widaers fErEar &
4] L}i‘.iﬁ?ﬁﬁ%@fﬂ Fmt IR r ufsar B
(c) wiaRres @l gg srerilore el &l
aa*;z«fa BE angdTIe B waw fHAST B
157 ArgBisheE BT

g™

74

c

v

3
4l
A
@]
€
4

Beavediarss

when secondary growth in thickness is initiated in a
dicot root which of the following happens first?

al Parenchymatous cellis between xylem and

shiloem become meristemartic,
(b} Parenchymatous celis of cortex become

ey Pericycle strands outside the primary xylem

divide

{d} Antichinal divisions take piace so that the
cambium becomes circuiar

g el o= Gt @& sl # et alyg

&ictd
(a) sWeeTa FaT WhUH & m as Uvsesrsded
ST AN RTE =1 onay T

2T dw wduerd Avar B

(b} sETerT (,} ﬁqcrﬁv—c;r\, reor BSER Riveates
ARG i L
(¢} wr=mard) WEdH & «Ee RPerd udarsse s

Tesa fasnfora & &y

velgenisa faueTs & w1IvT Bidads onssi

B Gual &

Page .3
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17.

All solutions have lower water potential than pure
water. The magnitude of this lowering due to

dissolution of a solute is called
{(a) pressure potential (b) solute potential
(c) pressure gradient {d) osmotic potential

TNt T & arer uRrfae urEll Ad wH
e &1 ws ohaiPur o dlcye B ogoe &
wrzer @t B, 3W HEd B

(a) Terz WiEhdETe
(c) Do AT

(b) Hfemge OIETI=IST
(d) sitenfes urdisrere

18. The coexistence of multiple alleles at a locus is called

18

(a) genetic polymorphism (b) restriction map
(c) exon trapping (d) intron

w3 Uehed &1 Ush & ellepd Uz &le Bl Had
k3

(a) S ureftaribesr  (b) Teliaersr A
(c) Tt 2fior (d) Sgret

-

The concepts and methods for the determinztion
of branching patterns of evolution is called

(a) phenetics

(b) cladistics

{c) numerical taxonomy

{d) multivariate morphometrics

wEAEA denl [y o e @ witder Ued &
S ugw & 8 3% HEd ©

(a) HarfeaT

{b) s eReaw

(c) sg@Raper Cartrenail

(d) #egaRue FRwATgET

20. Which of the following statements is correct?

{(a) Fluorescent in situ hybridization (FISH) is used to
determine the chromosomal locus of a gene.

(b) Southern blotting technique detects specific
mRNA sequences.

(c) Northern blotting technique is used to detect
specific DNA sequences.

{d) The detection of nucleic acid sequences using
hybridization techniques does not require the use
of probes.

Broer A F Prer AJ1 wers A4 B P

(a) woiie =& e asfsgsiera (FISH) =t
Sier & ErERNEE TeE &l UdaT #one B
2 e @Tar 2

AP/2016/0036

21.

22.

23.

Seres-A

(b) AATIee aATEaT debeias &Y TaidTse DNA a1efesH
BT TST SO B oA Topel AT &

(c) adar menféor adelias w1 w=oT DNA zigad
& TaT ooma & o Be=n oier &

(d) =gfreres U s sigee &1 gar Tona &
o9 wETsdlerscieta dwelles A UTRT @l
ITaeasar Hat &redl B

In Ascomycetes conidiophores may be closely packed
and organized into definite fruiting bodies. When
fruiting body is hollow, nearly globose or flask-shaped
and pseudoparenchymatous walls are lined with
conidiophores, it is calied
{(a) synnema {b) acervulus

(c) sporodochium {(d} pycnidium
vrErETEN S ofEfsaieir geisel s
Ferr faifema widm (T B w7 # A B oA
BT ®TE SR, TIOTHOT TSde AT UTIIES
@ BT B BA B Al FEUAGEHeA AT
FREaET A arEes adl ¥, 33 mad 2

(a) T (b) wzrTegET=
(c) s (d) rfrafzas

Asingle messenger RNA is formed for all the structural
genes of an operon. This RNA is called

(a) regulatory RNA

{b) polycistronic RNA

{c) transfer RNA

{d}) uncommon RNA

Uss 3Nuerer @ Well sgemwe Siter I Us AFGIY
RNA@eral & =1 RNA & mzd 21

(a) 3opetest RNA  (b) utelt Faemifers RNA

{c) gizrsz RNA (d) z1smTara RNA

The process in which mature differentiated cells
revert to meristematic activity to form callus is called
{a) Differentiation {b) Dedifferentiation
{c) Redifferentiation {d} Cytogifferentiation
3o ulteenr @ foverdl fewsifenszs orisramrd ga:
AT ST Doryw e F. aw vl &
wmEd B

(a) Tewitsrmers

{p) BB IITH
(c) SfsBinme= d)

wrgeriEiteiteroers

Page .4
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24. Which of the following is not true of hevea rubber?

~)

[€))

. A method for producing homozygous plants

. B chromosomes

(a} Latex is a whitish or yellowish milklike colloidal
emulsion.

{o} Hevea rubber is also known as Para rubber.

(c) The tree is native to the Amazon basin of South
America.

{d) Latex contains about 67% dry rubber.
$c‘ld1 A Bie Afden TR & S W wes sdt

a) SICaFA JWhe AT diet 39T BT GETT HIaTasal
SHoOTE B1aT &

(b} &R =2 = U Taw o) wmEa B

B AT AT

ci Ts aser afgyor 3ratias

w1 Jfeag B

S

(d) gord 67 widera Iz wa@z &IAT T

from a
neterozygous starting plant, which has ali desirable
traits, is called

(3} Mutation breeding

(b} Marker assisted selection

{c)

(d} Parasexual hybridization

Reverse breeding

T FeIeTgersr ure A, Torrd il aifsa o

Fsg &3 gel) wrgeryy dien wed @ HEd &
(a) oggere dfitSor (C)WJ—T{ af¥=2s FaaeE
(c) Raxt AfEor () Yorvergare srgdisrasiera

are a particular kind of
supernumerary chromosomes which have been used
for chromosome mapping. Which of the following is
not a characteristic feature of B chromosomes?

(a) They are dispensable and are not found in all
individuals of a species.

They are not homologous with any of the basic A
chromosomes.

Their inheritance is mendelian

When present in high number, they suppress
vigour and fertility.

FHIARNTT B &Y UF OV UpR & JuIegHed
BIHATAFT B9 & 3I@ HrAAA AT &
XA Topar Srar 2 9

P A P AT JPUT B prArARH BT AT

)%%ﬁsmﬁﬁ%amwﬁaﬂa%aaﬁ
$efagsicy & aft o o B

(b) & If3res ABIATNNTT B BATHPT =51dl &
2

AP/2016/0036

27.

28.

29.

Series-A

(c) 3aemT T2 Reel HASDIATA &idl & |
(d) s T & 8F ue Rere ganr wRwE
HT Abd B

DNA elements that can move or be copied trom one
site in the genome to another site are called

(a) Transgenes (b) Transposons

(c) Transiocons {d) Transcriptome

d DNA soiide Sff @ &2 Jwd & a1 SileH &
Uss ATge A gHY Tge d o wed &, 32
HEd B

(a) grevofier (b) gierdromzr
(c) ZierciiepTesy (d) aiafasere

Which of the following is not a characteristic of
ectomycorrhizae?

{a} They are present in the form of weii-developed
mycelium on the outside of the roct.
Theyincrease the area of interface between plant
roots and soil.

They are found in the cortex of roots of higher
plants,

The absorb and store nitrogen, phosphorus,
potassium and calcium in fungal mantle

ZAH A Bl Ta! HISHSTAZON BT opur widt & 2

a) @ grt Frefaa argdftraa & wa A &3 B
arET TEd B

(b) & o& gar el @ g TRHI B ErRRT
TJETT B

{c) & z=geofiim Oal &8 ot & wmrdaed F o
ST 2

id) o g e & sirsdiote, BRBRA, UieierH
e Bfeeryd WWEHT GTHAT BT & |

Pyrethrin, a bioinsecticide, is obtained from
(a)
{b) Ocimum sanctum
(c)
{d) Rauvolfia serpentina

g Py ura e

Parthenium hysterophorus

Chrysanthemum cinerarifolium

AR SEHBUAATES,
ST

(a) uretferga ERIwmRA

(b) amfray Staea

(c) Brecieersa RraRwiicrera
{d}) srzatemar wdergen

Page .5
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30. A specimen or other element selected from the

31

32.

33.

original material to serve as nomenciatural type
when no holotype was designated at the time of

publication or as long as it is missing is called

{a) holotype (b} fectotype

(¢} isotype {d} paratype

s TWhEa ot anfwes Azhos A

ATHEBAEl I3y & o ga ot SIW Uesiave
& e aeversu gdl s @sar ot &
IS @l B, 33 Had &
{a) BYArersy {b) SEiargu

(d) Tererzy

(¢} sz

Secondary metabolites, with strong antimicrobial

on and

activity . that are synthesized foliowing infecti
accumulate at the site of infection
{b) Phytochr
{dy Phytin
q Aepemd Azraionged Fad TEe USIHnD ;ﬁﬁaa
o 2rdl B 3oeer Ies F IR
arar B 39 JciﬁT STHTT TERaeTd Taet U \,a'r
{(a) wrEafaenessy
(c) wraer®BiE

Which statement

{3) Phytochelatins

¢} Phytoalexins

WU F RREFOTE

(o) wrsZroaashs
{d) GJT:JI'?_'T

is not corract about microtubut

{a} Microtubules are composed of polvmars of the
protein tubufin.

(b} The tubulin monomer of microtubules is
composed of alpha and beta tubulin.

{c} Microtubules are solid cylinders with an outer
diameter of 25 nm.

{d} A single microtubule consists of tubulin

monomers arranged in columns called

protofilaments

AP B T A BrE JAT HAe [AST AT

&7

(a) FATEBICT T WIS cIggelta & ureitarst A
TS BIA B

b) FgPITIRTH B T AT
My ey egerehs F @ ara 2

(c) FTsPlegaged o Rrdese @ & F e
argd eTITHIET 25 nm Bl B

(d) uss HTEBleggA @ Aol HAlSTAT
wrefteede & HIT A BT B

3T

In Funaria male and female sex organs occur at the
tips of two branches, main axis and large branch. This
condition is called

{a) pleurocarpous (b) apocarpcus

AP/2016/003

34,

{c} syncarpous {d} acrocarpous

wratyar 3 v dey wE SrEaer & el v

B - amy Ul den @ret ar 33
3gTT B & bEd &

(a) wgresTd =T (b) waiesTd

(c) reresrday {d) uprepTd =T

When in the DNA molecuies, one purine-pyrimidine
hase pair is replaced by another, it is called

{a} Transitional mutants

{b) Transversional mutants

{c} Insertion mutatnts

{d} Deletion mutants

DNA sreileRIer 31 75 »Z;;ﬁc. drifses U3

Sa gIry A wEs oar g, 3W Hed o |

(a) gistioreter a=plies

(b)

(c) georster aygdeH
)

(d) Eretters #ygew

AREES L T S 2 (A

CArchaefructus is

{3} afossil that may help elucidate early angiosperm
evolution
(b} aiiving member of the family Solanaceae

i
/
{c) an endemic angicsperm

)

(d) atype of aggregate fruit

srestpae =y 2 2

36.

Series-A

{a) Ues Shared o raedsull Uiell & STTogere
wy Zertar B

(b} RN wE H1 O Shiad FaIT

Uzs geiHes  TIeaE

Uh WHT @l TAOEHA

{c)
(d)

ICN stands for

(a) International Committee on Nomenclature of
plants

(b) International Council of Nomenclature

{c) International Code of Nomenclature of Algae,
Fungi and Plants

{d) International Code of Nomenclature

ICN &1 yot e 2

(a) Sexdoradd BAE 3Ta STHFTd? 3B eH
(b) Seaiererd wERTer 3TH eMHEmaT

(c) Sexdoraer wis 3T STdeaeraz 3iT%k Uool,
(d) Sexdiereter Bis 3T AR

Page .6
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37.

[¥F)
N8}

40.

A species that can persist in an area only if
disturbances occur regularly is called

{~} Foundation species {b) Flagship species

ic) Focal species {d) Fugitive species

R 3w g=t A ved ¥ ST erorane feweats
a) wragersr wdTefisy
o) wrmer Tl

(b) wroTfdra =ireftw
(d) wfsifea adreftsr

{
{

_Cultivated bananas are sterile because

{3} they are cross between two unrelated species
{c} they lack natural peliinators
{c) male plants are very rare

(d) they are trigicid and therefore there is nc seed setting

HESTATE BT JCISH BEIAT B meEriis

ta) = ey aterar TRt B mrer W wes &
(b) 358 urmviers arefiaest =81 fHaa 20

(c) #7¢ OVel aga @ Fad B

lg) & Sreares @ 2 gaferd e ad] aad 2

. Water-hoiding capacity is the highest in clay Which

of the following categories of soil water is availabie
to roots?
{a}surface water (b} capillary water

{c) hvgroscopic water {d} gravitational wa*er

Bl By e o

WY IUcTesl Blen & 9

(a) aFEw o (b) R =
(

d) Iideer=e oS

P . o ot .
Trepel Bl wWEe 37

734t
RBr3 gt @1 sfdEn ard! mEl

G

(c) arearssmIfires el

Mendel crossed a pea plant with two dominant genes
for red flowers (WW) and one with two recessive
genes for white flowers (ww}. Which of the following
is not correct about offspring in the F_generation?

(a) Everyindividual in the F, generation will receive
a W allele from the red- flowered parent.

{b) Inthe course of meiosis, a heterozygous individual
will form two kinds of gametes.

{c) Half of the heterozygous Ww individuals will be
red-flowered.

(dj Ww individuals are red-flowered and are
indistinguishable from the homozygous WW
individuals.

IS & U HeX B Uy @ oA st Tor B
2 € sifdde sfter (WW) gar ues orad awse
Ha @ Y a1 RAaRFe e (ww) &, 3g@e

AP/2016/0036

42.

Series-A

BT BT F Sleriera 3 3GBIRUT B Ade

#A B v wee Wl edl B

(a) F,oreiveral & v SIfaciaer @1 et o7
IF Uss Wateher T&acom

(b) Ty @& ©H H, Ts aedasmmorHd
SSAG3TE a1 Wbz & SrHle FaATEon |

(c) ZRIozTor SEifagees & I 8 ore o7
B werdare &t

(d) Ww saitggaren &t 307 @ &, § eidHIeTgerd
WW gEiarspae & arctor =18 13 on aad )

. Genes in different species that evolved from a

common ancestral gene by speciation are called

a} homologs {b) orthoiogs

{

{c} paralogs {d} pseudogenes
Ffdresr wftoflin & U e ofte o gauts,
NI & e # oA B, oz owEd 2
{a) sravenoay {b) Terarros

{d) =g=ishes

S

() zrerfemes

Which of the following is not correct about
prokarvotic cyanobacteria {blue-green algae) and the
eukaryotic red algae {division Rhodophyta)?

Both have chiorophv!t a, caroteneids, and

phycobilins

{a)

Phycobilins are found only in red algae

‘C’V

¢} in bliue-green algae these photosynthetic
pigments are found throughout the cell.

{d) In red algae, photasynthetic pigments are
confined to the chioroplast.

urfates SrmaAdswiiiiear e sa Sae)

Far gpvafeds we Srater (Fdierer Jsiwrger)

& e 3 BlE AT mue HEl FEl 2

(a) grelt H weiteer a, dASEITIEZA
wrEepitaides 9 a2

(b) Braepliaiciesy Bad &t Srarer & gy G
2

(c) e afla Srarer A woerer Heawur
guies gt ®fdresr #F u ond B

(d) =rer Srarer &, uwsrer JedAwul Aty avfes
Bad FAERE A fHEa B

ISE1

ary
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43. Fach leaf of Cycas is supplied with
(a) Two girdle and two direct traces
{b) Two girdle and a number of direct traces
{c) Several girdle traces and several direct traces
(d) Several girdle traces and two direct traces
TTERI B ucdd uadl H fPrem A XF e
(a1 orfds aem @1 grzdae ooy
(b)Y arfds dar v T¥ sIEYae TOW
()BT > ofde @am 3@l srgvae oIt
(d) 2z o3 o1ffer 23rer e &) gigvae U™

44. Pome is a false fruit which develops from a fleshy
thalamus. Which of the following is not correct
about pome?

{a) Seeds develop inside the locules

{b) Wali of the ovary is thin like paper

{c) True fruit remains inside the swollen thalamus
{d

) Fruit develops from an apocarpous, superior -
ovary

NH TP Bod B & Ol oj2ey Screrd 3 aerdr
Zrdte B gy d ew & A dHia mE FE 2 e
(a) &ro1 enaegET W 3igR AFAT B
(b) 3frard & 1T umer Quy @t e 8l ¥
() arael wer warers AdHT B 3w &ar 2
(d) wer Uss wotardd, JuiReT nadl F gaal
N

45. Which of the following is a vesselless most basal

angiosperm ?

{a) Amborella (b} Nymphaea
{z) Magnolia {d) Hibiscus
gard A dia IAATAfEE sngeadich B e
(a) 3ranys=m (b) t&afewma
{c) Froenferam (d) &Rz

46. The ovule in Pinus is unitegmic. It consists of

{a) outer and middle stony and inner fleshy layer
(b) outer and inner fleshy and middle stony layer
(c) outer stony and inner fleshy layer

{d) outer fleshy and inner stony layer

urgeryd HA 3egs FEfefSses et 2 swred B
S

(a) ST Far FHemw Iyt Feny 3riaies  woreft

Sl

(b) @ragzm e 3riaRes uoell Fem Fem  w=Ereh
ora

(c)amg=r =it genm 2iafte wieft uee
(d) ez vt genm zrales =Ereht usa

AFP/2016/0036

47.

48,

49.

Series-A

Interspecific comptition is strongest when the

(a) population is at its carrying capacity

{b) populations overlap in their ranges i

(c) reproductive rate is at its maximum

(d) species overlap in their distribution

éazfﬁiﬁ\usas FFIfeerer aga o1 AT & o
a) urgererst aruelt Hf¥or HufHS F Frar T

(b) urgaeTsr 31Uel ISet A 3NaAY et 2

(¢) ustarar e waiféres &ar 2

(dj =d=fisr sroar Bedisges # aftasory &t
?\»’ s

Which of the following statements is not true about

the decomposers?

(a) They generally feed by secreting digestive
enzymes on their food.

{b) They primarily comprise bacteria and fungi.

{c} They cannot readily digest the ceilulose-laden
remains of plants.

(d) They are found inlarge numbers but are smallin
size.

drepautored @ ar 3 Hra I sersr wE AT & 2

{a) & wmremour T 3rger siiey uerel @ onwuy
vsotigsd Mge wad HId T

(b) & Fozaer IR Jonr wawm B B

(c) & greal & JFegalsr arel airo @l 37Tt A
gTgoiee Fél @Y T |

(d) & zreafges dwen A Foa & use 3icd
JAsH B B

Which statement is not true about Crassulacean acid

metabolism?

{a) CAM plants have a different ieaf anatomy than
C, plants.

(b) CAMplantfixthe Co, at night when their stomata
are open.

{c} CAM plants store the Co, mostly in the form of
malic acid.

(d) Co, is reléased during the night, where it is
concentrated around the enzyme RuBisco

AT RS ATEiceH & G H dia AT

werer EN =dt B 2

(a) CAMOrelf &5t afea=ll &1 ariafves dAwaear C,
arerf A fires & B

(b) CAMGIEl CO, v1a & TharT d & oIF 3aP
AT ol BT &

(c) CAM dra CO,=r #ifas 3 & w9
HERUT HIF B

(d) CO,zra af RATSa gt 2 3fiw @sl ushHa
1t & sl RuBiscousaisd a1 2

Page .8



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

>0,

51

wul
N

WRICH of the following IS not true of elaters?

(a) Elaters help in dehiscence and dispersal of
. spores.

{b) They are spindle-shaped, having spiral

thickenings.

{c} They are hygroscopic.

(d) Eiatersare formed from meiotic divisions of spore

mother cells.

==ed B arr # BT I Fee JE FE B P

(2) soed =avd & R I Boda &
FETTH B B

(0) & =fNessr INHT @ B 2 & g YrEvd
farepfeiar ardr &1

(¢} @ ETEamiUs & B

(d) s&rest Qe 31T Bt #F Brenfes Bdoe
T FEa B

In a pyramid of numbers representing an ecosystem
of a farge freshwater pond, the number of primary
consumers is

(a) more than the producers

(b) less than the secondary consumers
{(c) more than the secondary consumers
{d) less than the tertiary consumers

ves ufdafas a5 & o a2 worger e
A B, agl Tutds A grafds sooyad 8 8

. The open mixed forests of broad-leaved and

coniferous species occurring between 2000 m and
2400 m in the dry zone of higher Himalaya are called

(a) dry deodar forests

{b) dry mixed temperate forests
(c) dry deciduous forests

(d) dry temperate coniferous forests

grae fEHe & & 2000 #Hlew F 2400
ez & HeT I & H o 3NUe fHas a9,
@ ofea=st a@ 3 weiives hoftsr) =
HESTE B

(a) gré Tagre et

(b) grd s 2ae o
(c)grg hgard aer

(d) grgeaaye mEwe ae

AP/2016/0036

53.

Which statement is not correct?

(a) Incyclic photophosphoryiation, electron proceed
through only one transport system.

(b) in noncyclic photophosphorylation electrons
are transferred through two photosystems.

(c) in Calvin-Benson cycie, ATP and NADPH are
provided by the light dependent reactions.

(d} In Calvin-Benson cycle, CO, is attached to RuBP
to form a five-carbon sugar

Brer AT wmadA JE T 9

54,

Series-A

(c}) The
(a) st WY wreRE e & soaia Bad
UH oI Breed # wed 2o

(b) arer-wTstaTis WwramTEEReee & gedgre
&) wrEaRreH 3 seeatza a2

(c) wifcaer—siorer e &, ATPaem NADPH wester
mef¥a Pogeres J Brerd &)

(d) wrieaei-aoret ws &, Co, RuBP 3 e
YT Ul oiase orpdl SedAT B

Elaiosomes are associated with the dispersal of seeds
by ants. Which of the fellowing is not true of
elaiosomes?

(a) Elaiosomes are always green.

(b) Elaiosomes arise as an outgrowth of raphe or
hilum.

(c) The ants are attracted due to presence of
unsaturated fatty acid and rincinolid acid.

(d) They contain nutritive substances like proteins,
lipids, starch and vitamins.

SATATEET difeal @t =i fafsrer Y Iataa

T foreer A F B J7 maw HE FET 2

(a) mefi=dteT &R &Y &8ra &1

(b) sefiadiesr YB =1 Brgad A IR & HI
& forpea 2

(c) e sreragees B8 ufds e dx=fienfars
URIs & o Insa B2l B

(d) Zerdi diwes uerel S widled, oifusey, verd
aen fefores 8 3
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55.

56. Which oneisnota

57.

Casparian bands are present on the

{a) Inner tangential wall of testa epidermis

{b} Radial and inner tangential walls of endodermis

(¢} Radial walls of pericycle

{d) Radial and outer tangential walls of endodermis

BOTgs Fz ol o= 3w 27

(a) == sfusfeter &Y arats Tsaiseraer 3
gz

(b) savefdisr & euer gar syaii®d 2edr
Tt uw

(c) afdwgissr o YEeer ide uz

(d) S & Eaa aer @
farfe o

characteristic feature of Pstlotum?
(a) Psilotum lacks both roots and ieaves,
portion has smali scale-like outgrowths.
{b} The sporopghvte consists
ranching aerial portion ar
ubterranean portion.
ro

of a dichotomaousiy

vd a rhizoid-bearir

tostele.
crous seedlass vascular g

{d) 1t
farae o 9 Zﬁ\%’é? ST ATEENTH W1 AW JUl e

{a} srrgenex G
?z uherar anor
rar B

{b) eqrivmIge & STEHITIF T Y Sared
HIIT AT ASCATTE  ATerT sIfdOTT sTOT AT

Z
(¢} & urgEde & 2
(d)=rz @edrediest Siorfes gragas diar
Some lichens not only consist of one mycobiont and
one phycobiont but one mycobiont associated with
two different aigal partners, one belonging to
Chiorophyceae and other to Cyanophyceae
{cyanobacteria). The latter are not distinguished
within the thalius but lie in special, delimited swollen
parts called
(a) cephalodia {(b) cyphellae
(c) soredia {d) isidia
EE cgde F Uh BRI U wIEeare
B R U ASHIERE &) 3eroT-3erol  Sianet
grdas, Ush FEATABETr w1 et g3
FseaadfiaT &1 & T & I8 U we gd a9y
HroT F TEaT &, 3T wHEA B

(a) FrpentaE=n (b) Fydsaht
(c) Ar=isen (d) afEtee

AP/2016/003¢

58.

60.

9. A mui LID1(1~

Which statement is not correct?

{a) In Welwitschia, the exposed massive woody,
concave disk produces anly two strap-<  ed
leaves.

{0) Ephedrahasinconspicuous small, scalelike ieaves.

{c) In Pinus seed, the seedcoat and embryo are
diploid and the female gametophyte is haploid.

male

{d) in Cycas the

5
megasporophylls occur con
W AT

eperel WED dat & 7

& gIe &
& JeH,
WROAT

“ary

of a small )
{MIRNAY is cal
{a) RNA-in
{b) RNA-

(¢} Repest-associated silencing

s wier RNA
TEBY microRNA

(d) ferré éat%f‘,sr ANAS
Which of the following is not a characteristic of
akinetes?

1SIRNAS)

(a) They develop during dry environmenta
conditions.

(b} They are produced singly or in chains.

(c) They are surrounded by a mucilaginous sheath.

(d) The wall of the parent wall fuses with
wall.

the spore

vt & X ora usstgelle o7 [y oot FET B ¢

(a) @ IW gearades Hdlerd #H fUalaa &
=X

(b) A wer &1 F=r H FTAA T

(¢) ¥ vss sgfadoeiiers offar & R ard 3

(d) O¥ee farfea sured & ke 3 =y &< od
Z
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62.

63,

54,

65.

rolien grains with three, Tong, grooved apertures,
each with a central pore is called

{2} tricolpate {b) tricolporate

{c) triporate {d} zonate

gerereserl A Tas @, gres uodw 819 B aen
e siem H us fw glar B, 39 umw B

OITSTEBY] Bl FES B |

(3) gremmrete (b) grzaive
{c) greepredve (d)=rae

Shared derived character state is called
{a) apomorphy (b} synapomorphy
{c) symplesiomaorphy (d) plesiomotphy
TTE 2ITFeT IaeT IJT Bl BEI T
(a) puTaTH (b) FBreraramast
(¢} Byeforataudt {d) @FSransETsT

Which of the following is a negative senascence.
regulator?
bscisic acid

(b} A
(d) Cytokinins -

{a) Ethylene
{c)

c) Jasmonic acid

zad 3 @la ot Jeidew Yoyder B 2
(a) verrzefrs {(b) tah3rs 31ect
(c) Treamfores areoy d) srrgey wrafaey

Speciation is the process by which independently
evolving lineages, i.e., species, are formed. When
speciation occurs between adjacent populations
within a broadly continuous habitat is called

{a) Allopatric speciation
(b} Parapatric speciation
(c) Peripatric speciation
{d) Sympatric speciation
JIdToss g a8 diefler & 3w a1 2
oo XfvreHE &1 urd-utd &t urgdieed St
UE & v B e A &Y I g vEd) D,
3= HaET SIrar B

(a) vorifees wPfdrowrs
(c) T=zrofees =it o

(b) o ATees heNuwe
(d) Rz aRfeeses

Mutualism is a relationship in which both species
benefit. When one organism can live with more than
one partner, it is an example of

{a) facultative mutuaiism

(b) /diffusive mutualism

AP/2016/0036

66.

68.

Series-A

{c}) obligate mutualism

(d} defence mutualism

Fgguiass # el wiefter @1 wraer &@ar T
TE UFE GUT, U F sgrer urdersdd @ oirer vaEal
3, 3T wsd B

(a) Pepeiea syguitTes

(b) Frwerfora sgguides

{c) arreciire. Fggufess
{

d) ewba sepgufess

Similarity between taxa that results from convergent

evolution is cailed -
{a) homology (&) pelytomy

{c) homoplasy {d) maximum parsimony

WHeaGie BATEHLIS A G &1 el & Jeraar

mE et B o33 wEd ¥

{a) BreneTal (b} ureitEiah
{c) ErrSTaT (d) Afersrarar yil3tarsh

. Which statement is incorrect?

(@) Syngenesious stamens occur in the family
Malvaceae.

{b} Gynobasic style occurs in the family Lamiaceae

{c} Caryopsis is characteristic fruit of Poaceae.

{d} Verticillaster is characteristic inflorescence of
Lamiaceae.

drel AT Hada JE @E T e

iy

B #H

>

(a) Br=oafyas &Fa saash
T B

(b) orgeiares  Tersw  AfHUA wer & urd
Seft 2

(c) BRI diusht @me & v w2

(d) aifeier afHER & & 9w g T

Plant adapted to high intensity of light are called
{a) heliophytes {b) sciophytes

(c) halophytes (d} epiphytes

a9t Gt 3reafers gwrer & B v wm B, ¥
HE ST B

(a) aferanwrses
(c) Beirprses

(b) Rr=rwrses
(d) gdtwrges
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69. Which statement is incorrect?

70.

72.

{a) Thorns are modified stem branches and arise
from the axil of the leaf.

(b) Prickles are stem surface outgrowths.

(c) Spines are modified stipules

{d) Cladophyiis are green leafiike stems that are
photosynthetic.

WA JT Ty WA HET F P

(a) aref @& @ enwait @ Hurdvur B3R
ufea=it &) vasier 3 farasera i

(b) utsem aa @t weas & nIzany &

(c) =uzes Ewew O wuralRa &

(d) FrSper &Y uahl = avg & a8 T S

gahsrel wedwur aff wmed &
When the zygote of Ulothrix and Chlamydomonas
divide, which of the following does not happen?
{a) Of the four, three nuclei degenerate.
(b) Four haploid daughter nuclei are formed.
{c) Each haploid nucleus gives rise to a zoospore.
{d} Each zoospore upon germination gives rise to‘a
new piant.

el UENRaRT F@er FATSSIAHIGTA B Sgane 3
frarrorer 1@ 2 oag foree o 91 ey #1El arar 2
(a) are & & Fra Pdegw HS@Tz @ ong B

(b) uT BT BIET whegdh AET 2

(c) Ut Riearas SHeges UH  SHEINZNIR &7
e QT B

(d) wedies Uy 3i@EeT B A@IE UH I Tig Bl

oTeH ST 2

. In an amphivasal vascular bundle

(@) Xylem is surrounded by phicem from all sides
(b) Phloem is surrounded by xylem from all sides
{c} Xylem has two patches of phioem on either side
{d) Phloem has two patches of xylem on either side
v UfFsassr dase dsa #

(a) STrecrar =@l avw A weiva & ™ &ar &
(b) ueros @il dew F Srserer O e &dr 2
(c)sirsats & aYe) avwh ueigH & o) Jg &g 8
(d)ueiuar & S d3w oised @ & Ug &g &

In tissue cultures roots can be induced by
{a) Only auxins and no cytokinins

(b) Higher concentration of cytokinins and lower
concentration of auxins

{c} Only cytokinins

AP/2016/0036

73.

74.

Series-A

{d) Lower concentration of cytokinins and higher
concentration of auxins

X

(a) dBae siTailoier 30T ®E FTgcrarafete Faf

(b) HAadsISieresT o BT wrediegeret 31T 3ntdster
WI T PeoTa gL

(c) daa ATZABIBIAA

(d) Tr=arersfeen @7 &3 FeoTtdagere derl

SIS &hT BTTT HeRTeigeTs

Artificial seeds are prepared by

{a encapsu!at%:{g somatic embrycs in an alginate
matrix.

(b} encapsulating endosperm and zygotic embryo in
alginate matrix.

{¢) growing plants in artificial light.

{d} growing unfertilized cvary and oviule on MS basal

medium.
wiErE ! @ gad ) ewr Y g seEn
(a) orATEE o w1 arcciaie Afgad o FUesT |
{b) aordia e GrrgeniEe arT WY 3estior AT
(c) aiert @Y wMrE udmrer F MBI
(d) arfedferes afgrersr ©d ez B MS a3
FHTgerar uv FIoTERT

The botanical name of mango is Mangifera indica L.
L. stands for Linnaeus. The name of the Linnaeus is
associated with the botanical name of the plant
because

(a)
(b)

the term Mangifera was coined by Linnaeus

someone collected the material and sent to

Linnaeus

(c) thespecies was described by the Linnaeus for the
first time

(d) the specimens of the species were collected by

Linnaeus

amar @1 arasuiacss stH  Mangifera indica L &

L efferers &1 dfgre ey &) 919 & ama @

Hrer Nfererst &1 SH SIS g3 & &R

(a) Mangifera otea eNferay & @=raT |

(b) Brsh & FeFaw Fus e 3 e
?H Fe =

(c) =drefist w7 ugeh s eNfergad g1 gmneda
fop=rr oTeT |

(d) =theflesr @& efidsm efifermr g ==

weEs ey ot |
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75

76

78.

AP0

The Thange T Species mumBber and CoMmposition, or
turnover of species, as one moves from one
community to another is called

{b) beta diversity

{d} adaptive evolution

‘a) aipha diversity
{c} gamma diversity
et @& w9 gy Haerered A agerg IT
diefst &1 eelafiar ofg Ritefisr uss woygferdl 3
I wagferd) 3 aelt ol B, 3 wed B
(3) 3rcweT TAfgerar {(b) &frer Ferfereran

{c) omarT fatereray (d) ueftea zaceger=

Which of the following about gilbberellins is not true?

{a) They stimulate cell division and elongation.

(b} Spraying gibbereliins stimulates bud formation
and fruit setin apples and pears.

{c) This help in breaking seed dormancy.

{d) Application of GA promotes fast fruit ripening.

Satesn & a & BeadiRoe # 3 = 98

B

HIAT B

(b) Trg 30z Frerard]) F oafede= = feow
well B ogas T WS gl Bl WG
HIAT B

{d) GA® Tzma O o Sicd] THd 8

. Aninterruption in the vascular tissues of the stem of

some ferns is called a leaf gap. Due to overlapping of
the leaf gaps, the vascular tissues of the stem appear
as scattered. This type of steie is called

{bl niectostele

{a) actinostele

{c} dictyostels

{d) hapiostele

Wel & Jd 3 WaET HBas H g Bl
SIU el ST 5 oiws SIeF & 3fraw offver 3
ge @ Hame Faw T g9 fwd 2a 2 osw
URIY & e @ Al Siar 2

(z) TersraedteT {b) wraarsdier
o) EREaTsEE {d) Zwmdier

Digitaiis purpurea, an important medicinal plant,
contains several cardiac glycosides, including

digitoxn it celong to the family

{b} Solanaceae

(a) Apccynacess

{c) Scrophuiarizzeas

ereefasy UTTE‘Q%'{P Uik :455'\;\‘07( arrefier
2 Torersy

WE  BIETE JTETEGIATE’T  d@ann

J16/0036

79.

80.

Series-4

IEUS GG SAE B LI 1 2 B S | -2 - T oh2 o T )

Qrer B P

{a) varzrsa=h (b) =reraf
(c) TBTURIETRURN  (d) Jereragerdt

Phytochelatins {Pcs) protect plant enzymes from

trace-metal poisoning. Which of the foliowing is not

correct about phytochelatins?

{a) Phytochelatin was first discovered in 1981 in
fission yeast.

(b} Phytochelatins are cligomers of glutathione.

{c) They are produced by the enzyme phytochelatin
synthase. ;

{d}) In metal tolerant strains, Pcs are accumulated at
lower leveis.

wrgeifaafesT (Pos) Uey Ussigsd &1 gd-Hed

wrastas & watEr 2y farw H 3 wra

wrzardfEsy & =Y F§ wd waw & 2o

(a) wreaitasigss w
H ez & S oty

(b) wrearaifess vetaars @ NeTZonHT &

{ UesTgd WIsaaaide #1eeret g7 a1y o

sifereesTy wdwaH

o

1981

c) =
=
2

ey &, Peos i3y &dae uv

Arabidopsis thaliang was the first plant to have its
genome sequenced. which of the following is
incorrect about Arabidopsis?

(a) it belongs to family Brassicaceae.

{b) 7G percent genes are duplicated.

{c) it has haploid chromosome number 8.

(d} The genome is about 135 Mbp in size.
Arabidopsis thaliang user Qe e fSaeT SieTH
reiesr Topem orerm feteat # 3 Arabidopsis &
(a) wg =MD gger mr dlem 2

b) 70 ufdera shewr gwfde 2 3
ETATATIS BIEHTTH HET 8 21

c) B
d} =fest S&H oreorstor 135 Mbp s o arar

EX
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81.

In maize and sugarcane, malate is the primary
product in mesophvll cells. This malate is rapidly
transported to the bundle sheath cells, where it is
decarboxylated by malic enzyme to form

{a) oxaloacetate and Co,

(b} phosphoenol pyruvate and Co,

(c) pyruvate and Co,

{d} phosphoglycerate

FHemT 30T ored & Foe Aonfea wferErat #
gers UTsae ¥ U8 Ao m@iva ofa F dasoefla
Hifdresiail & giwud & oar & ol HidSe
cEneE gra UE dleaieRiice gy Aardal 8 |
(a) arredrenu=fice @ar Co,

(b) BrawgaTer argRae der Co,

(c) ursesae @ar Co,

(d) wrapresiRe

82, Which one of the following statement is not correct?

83.

() All taxcnomic keys are dichotomous.

b} All keys comprises sequence of two contrasting

statements, each statement is known as a lead.

{c) In a taxonomic key, the two leads together
comprise a couplet

{d) All keys are based on phylogeny.

forge 9 @raw was @A Al B

(a) T eEFenfHe
&

(b) =eft &1} &1 wpegi¥cor Fral 8ld &, WD
aToT ofis weeral & |

(c) e Seriierisies @ key A,

wY e d@e TS &

(d) z1eft &5 key wigenGielt wy anenfr@ el @

(key) BTgraldrz  aidl

ar ofiga fHeess

if gynoecium of a plant shows bicarpellary,
syncarpous, unilocular ,inferior ovary with basal
placentation, the plant belongs to

{a) Solanaceae {b) Asteraceae

{c) Lamiaceae (d) Poaceae

afF Ue O & onselwrar # argsderd,
Drerpud, YAlETEeT, SAWmIiRAaY 3T Fen
e wrderm &, as dven feraw A [ RBA
wer ¥ Fala 29
(a) cie

(c) SxfFE=h

{b) Tyt
(d) dre=i

g84. In C, plants, Calvin cycle

(a) occurs in stroma of bundle sheath chloropiasts.

AF/2016/0036

87.

Series-A

(b) occurs in grana of bundle sheath chloroplasts.

(c) occurs in mesophy!i of chlioroplasts.

(d) does not occur as CO s fixed mainly by PEP and
no CO, is left for Calvin cycle

c, arerf 3, wifeas a®

(a) @serella aetRIee

b} demefla aETRITIE

(
(c) sfonfser aeiRiazes =
{

d) @iz @ =l grar ® a=iE 71 PEP g2
Rwerey Tosarr orar 2 3?? =7 T & fE

g CO, Juzser &7l @ '

5. The root and shoot of the primary g2~ 7 axis do aligr

pull. The organs which grow at right ang&és of the pul
of gravity are said to be
(a) digravitropic (b} agravitropic
(¢} plagiogravitropic {d} atrcpic
e wite UfRrd, @ial 99

mga%%wwﬁ3ﬂmﬁrm

wT A T A aota o gpmaareyu Eara g
JrEe Ustesi U¥ 303 8. 3@ FEA B |

(a) sroardzites (o) e aiardigios
(c) parasus g

. Chalazosperrn is a remnant of

(2} endosperm {b) seed coat

{c) nucelius {d) integument

JerG oue TBAeT 3Ty 2

(a) TesIUH {b) Nz

(c) =g gfers (d) gZoreiz

When sexual MMC or its procucts abort and th

aposporous embryo sac occug:es the entire area ¢

the ovule, it is called
{(a) Obligate apospory (o) diplospory

i

(c) adventives embryony (d) carthenogenesis
St FEgater MMC =T 3358 Eiali valfe & S
2 a3l guRdres oiEst de S B Y

AT BTEEUTE ®Y A ¥, IR BdET &

(a) anfaerore oUIET (b) fEeetraTy
(c) msdfea wiFmamen (d) urerasiatars
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8.

[S9]
b

o
[

. The segments of the linear double halix ¢

e Droteins which are pound to the membrane
surface by noncovalent bonds are called

{4; Anchored proteins (b} Peripheral proteins
{c} Integral proteins {d} N-linked

iycoproteins

[418)

DT G FAE WEE U shd srdote | 7
?1% T B, I wmaEr o 2

3) Uess Wide  (b) USreE wridissn
(c) &€rare wered (d) N-linked semgasTeiidle

EAEA

-

TDNA are

coited twice around a solid cylinder of eight histone
protein molecules, forming a
(b} riboserme nucleotus

(3} nuclear envelope

{d} nuclear pore

TEEre
T %rtz,‘.- é. z—a"c’f ?* g

IR Fats

During senescence-associated programmed ceil
death, cellular constituents are degraded by
zpecialized vacuoles calied

autophagosomes

163

oy

WL
S.A.,

. Any gene artificially tra

contain sericrystalline tuoular arrays of memorane
known as

{a) stromules {b} stroma lamellae

(¢} prolameliar bodies (d) matrixules

ot 3fegia A@rsit e ey # e war @ oaw
Ureniie s sladtwee § BeIfeve B o 3
JH [ETEengsl TYGER TIST 3T %aﬁd
: 5T ONAT B

E?TE*‘” R
(a) maraegea (o) wrerafiers srdloi

‘v

/,,\,

N

Bt e

;

{c) 3T &Y ()

uring cell division, the phase when a newly formed
gaughter celi has ndt yet replicated 1ts DNA, is called

{aj; G. (o} s {c; G2 {dim

@ dEsT & BIeT  SiTteTEsT
arUEr sEl TEgr B, 39
ITETA

(5’:‘1 {:f 5 § (’]:ﬁ (d”\v’l

- B oy

& @ mvgss BTd 3T FBE HATAT 2’
{a) rrgetyesy (b} erertars

{d) wiisTeresy

nsferred into an organism is

wz"v referred to ne. Bt toxin from

*I

mful tc most other organisms.

can kil weeds but does
plants.

not harm resistant crop

PBrE ofter o =B mY 3 Beeh arew ohia &
Easher @l oial &

serrartatsa feer ond B oo
Bucillus thuringiensis =1 B 2ifeas
Ba@Es A Se3BAY H3ar 2

@ey B

(a) Fig & st &

b) utm  IratEfder T Ara-aliirRTs

G

(¢} =g 2ftpae shat & Ba afsews ger
ES

{d} Trwi-a@ary oY #E w@wal g odwg weie
e @l [ CERR I GrEIG-rra 1
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96. When a flaccid cell is placed in a solution that has

was potential greater than the cell’s water potential,
{a) water wili move from cell to the solution

{b} no movement of water

{c) water will move from solution to the cell

(d} there will be plasmolysis

o Us u@fHs St o e FreRee #H
T oidl 2 Frmest ared Ureidersr Ifdrhr &
grer urelrrea J s9ier & ad

(a) wifPTedT & OloT ATeYLA H FARION |
(b) STeT @1 WrE FHaHAe FET !

(c) oot HATevgerer A HIfeTeT A ST |
(d) oA &eft

. Mineral deficiencies disrupt plant metabolism and
function. Zinc deficiency is characterized by
{(a) areduction in internodal growth

(b} mottled or margin at chlorosis

{c) necrosis of young meristematic regions

{(d) chlorosis between the leaf veins

Bena oY mfl I ureu FAewiferoH gam mrf
T AT usar 21 s B wH FA R GHE
B & 9

(a) Sevatsw oy # Raaera

(b) #Tess a1 arstierar aenaiRra

(c) &Y ANHARS a5 @& JBIAA

(d) ofeaadl & dey & g A TR

. Which statement is not correct about photosystems
fand Il

(a) PSl absorbs far-red light of wavelengths greater
than 680 nm.

{b) PSIproduces a strong oxidant, capable of reducing
NADP~

{c) PSli absorbs red light of 680 nm

(d) PSH produces a very strong oxidant, capable of
oxidizing water

BT H (den wathed || & T & drerar

werer IWE LT B 2

(a) PSI680 nmaracizel B WHIRIE UHT Bl Ussia
HIAT B

(b) PSlues wzisr amwiiEe werar & forad NADP:
Bl gy o= @ eTHar s 21

(c) PSII680 nm & Iseiige &1 Ussd wHRal o |

(d) PSltuas =g Zgior siefide garar & foraed
GieT Y 3iTafiErsel oea @) efadl &y B

AP/2016/0036

99. Which statement is not correct about £l Nino”

(a) It primarily affects the rainfail pattern off the we
coast of South America.

(b) During El Nino, there is no wind shift in tl
equatorial Pacific ocean.

(c) The normal east to west winds reverse directis
and drag the large volume of water eastwards
the pacific ocean.

{(d) The normally cold water becomes warmer a
growth of microscopic aigae is inhibited.

Tel-e @ @ # dra AT wers dE Fdl B

(a) g T3 s@¥®E & afercl Gz gz auf
Vet @1 waifag wvar &

(b) wer-afa & e, saaRas UTAThe
#F zwar w1 Rree @4 & r £

(c) evTe gd & ufdga a1 &1 AOdE srEaR
qrell B oSl ared W UTdTsd AHE
sIegd & wral g

(d) SR d'1 urelt oA & Snar & o
Jew daredt B Iy Fe FATAT B

100. ELIZA assay

(a) involves addition of substrate which
converted to coloured end product.

(b) uses radiolabel led antibody.

(c) uses complement mediated cell lysis.

{d)requires use of thin layer chromatography.

ufeten ot

(a) TT=Tee & fHemar Uz g Hfa sifds urs
B ™ 3 wead & ST T

(b) =rz IEA Sz TSRS B UAIT BIAT

(c) == wachaie Afgues Hfvem arsiaa
waT ' 2

(d) a8 eftg S3I7 HBTHCATW! &I TALE
et B
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